Daily weather summary 24 February 2007
	Large scale situation today:
	3 cyclones extend across the Atlantic. The largest is off the coast of Newfoundland with 976hPa centre pressure. A 988 hPa low is southeast of the tip of Greenland and is heading east into the last of the three which is north of Ireland. The mesoscale cyclone has moved to 70N 00E and has deepened to 999hPa. In the upper levels there is a high pressure centre sitting over Greenland and a trough extending from the mesoscale cyclone over Iceland. (Based on UKMO 00Z)

	Features of interest:
	There are no a lot of interesting meteorological features within the range of the aircraft. There are some indications of acceleration of surface winds by the Cape Farewell.
 [image: image1.jpg]




	Action:
	A targeting flight to the south of Iceland. 


	Outlook for the next 24-48 hours:
	The mesoscale cyclone is quasi-stationary around 70N 5W while the low over the UK drifts slowly into Denmark. The second low moves close to the large cyclone off the coast of Newfoundland and then around it towards the tip of Greenland. By the end of two days, the flow upstream of Iceland is from the north, there is flow splitting around the island with most of the air flowing by the east coast (influenced by the Coriolis force), creating a significant wake to the south.


	Outlook for the next 48-96 hours:
	The mesoscale cyclone begins to dissipate and has dissappeared after 84hrs. The low to the south of Greenland extends a trough eastward in which two cyclones form. The first is to the west of Iceland and merges with the parent cyclone. The second forms north of Ireland and deepens to 965hPa over Scotland. This low is shown with two cores in the ECMWF. Interestingly, the 96hr forecast in both models shows a continuous trough connecting the mesoscale cyclone, the low over Scotland and the low to the south of Greenland.
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